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IX 9+11 s#2

X 9+10 h#2 2 solutions




I

White Kd7 S5 Qg5 Bb4 Rb3 Sf3 Ba2 Pb2 Rd2
Black Sd8 Re8 Ba7 Pe7 Pc6 Pf6 Ph5 Kc4 Se2
3nr3/b2Kp3/2p2p2/1p3NQ1L/1Bk5/1R3N2/BP1RN3/8
I

White Rh6 Qd5 Sc4 Kh4 Rd3 Sf3 Bb2 Bbl

Black Pf7 Pd6 Pf6 Ba5 Sh5 Pe5 Kf5 Rb4 Re4 Pf4 Pg4 Bhl
8/5p2/3p1p1R/bn1Qpk2/1rN1rppK/3R1N2/1B6/1B5b
i

White Ke7 Pf7 Rd6 Pe6 Pc4 Sd4 Qh4 Pa3 Pf3 Pe2
Black Bh7 Pb6 Pc6 Kc5 Pf5 Pa4 Pf4 Bh2 Sfl
8/4KP1b/1ppRP3/2k2p2/p1PN1p1Q/P4P2/4P2b/5n2
v

White Qh8 Kh7 Sc6 Rf6 Sd5 Bc4 Pe3 Bh2

Black Sc7 Pg6 Ph6 Bg5 Ke4 Pb3 Rg3 Pa2 Pc2 Sf1
7Q/2n4K/2N2Rpp/3N2b1/2B1k3/1p2P1rl/p1lp4B/5n2
\

White Bc7 Sb6 Kd6 Pa4 Pf4 Pf3 Se2

Black Ka7 Pb7 Pa6 Pa5 Pe5
8/kpB5/pN1K4/p3p3/P4P2/5P2/AN3/8

VI

White Bh8 Rb2 Kd1

Black Pd7 Pf5 Pf4 Rh4 Pb3 Pa2 Pd2 Pf2 Sh2 Kal Bel
7B/3p4/8/5p2/5p1r/1p6/pR1plpin/k2Kb3

VII

White Bh6 Pb5 Pc4 Kf4 Sh3 Rd2

Black Kc7 Pc6 Rd6 Pf5 Bh4 Sc3
8/2k5/2pr3B/1P3p2/2P2K1b/2n4N/3R4/8

VIl

White Rg8 Sh6 Ke2

Black Sd8 Sf7 Kh7 Ph2
3n2R1/5n1k/7N/8/8/8/4K2p/8

IX

White Re8 Ba7 Sb7 Pd6 Rf6 Kc4 Qc3 Sd3 Bbl

Black Sf7 Pc6 Se6 Pa5 Qa4 Bb4 Ke4 Ra3 Pb3 Rc2 Bfl
4R3/BN3n2/2pPnR2/p7/gbK1k3/rpQN4/2r5/1B3b2
X

White Rh6 Pc5 Rg5 Kf4 Qh4 Pc3 Be3 Bf3 Pg3

Black Ba7 Pc7 Pa5 Kb5 Sa4 Qb2 Pe2 Rf2 Pg2 Bd1l
8/b1p5/7R/pkP3R1/n4K1Q/2P1BBP1/1g2prpl/3b4



